SHIMANO Small parts list for after market.

SHIMANOD (EUROPA) GmbH. ® You may photocopy this sheet and use it as an order form.
$L7'"0h2ﬁ|§§?536:,3010 Hilden, Germany ® Sie koénnen dieses Blatt kopieren und als Besteliformular verwenden.
[ ] T j ‘utili
SHIMAND RIERICAN CORPORETION gq'ugl p(;)L,l(VEZ photocopier cet;e tf)eu:lle/fet lu/t!//ser comme bon de commande.
One Shimano Drive, P.O. Box 19615, Irvine, ® Dit blad kan gecopieerd en als bestelformulier gebruikt worden.
California U.S.A. 92718 Tel. (714) 951-5003 ® Potete fotocopiare questo foglio e usarlo come modulo di commissione.

F D - M 651 Front Derailleur
F D - M 6 51 -EC gmodn-:ezzréi:zl::ll:; Type

FD-M651-EC ®

oty |'TEM| pARTNO. | DESCRIPTION

570 1401 Clamp Bolt (M5 x 16)

57R 9801 Stroke Adjusting Plate & Screws (M4 x 12)
583 9801 Cable Fixing Bolt Unit (M5 x 8.5)

583 7101 Chain Guide Fixing Screw

570 9806 | Clamp Bolt Unit (M5 x 18.8)

590 4200 Clamp Band ¢28.6mm(1-1/8")

6 579 3200 Clamp Band ¢31.8mm(1-1/4")

570 1800 Clamp Band ¢34.9mm(1-3/8")

1 570 9805 Stroke Adjusting Screws (M4 x 13) Zpcs.

Q| B W DY

002 Printed in Japan 9106-1161A




